
DESCRIPTIONID PART QTY REF.

Ref.: 9606

20 min1 person

Easy

Innnteeermmmediate

DDDiffifificcuuullt

 TOURING SCREEN FOR  

SUZUKI DL250 V-STROM ‘17-

Nº 3
Nº 4
Nº 5 Nº 11

ALLEN

Touring screen

M6x17 special screw, cylindrical Bush lenght 20(inner M5x15)

Metal support

Ø9xØ6x8 silentblock

M5x16 Ø11 ISO 7380 screw

M6x10 Ø11 ISO 7380 screw

Ø12xØ6,8x7,3 bush with fl ange

M5 ISO 7380 screw cap

1

2

1

4

4

2

4

4

9606F/H/W/NM3

TORNI-EM6---800

SOPOR-1P-2-9606

AROPASACABLES-3

TORNI-I7380-493

 TORNIAI7380-205

CASQUI-1A---750

TAPON--------85

1

4

2

6

5

3

7

8

https://www.motorcycleid.com/puig/


      TOURING SCREEN FOR     

SUZUKI DL250 V-STROM ‘17-

2

43

1DISASSEMBLY ASSEMBLY

ASSEMBLYASSEMBLY

1

4

4

3

23

8 5

58

58

5
8

5

67

1

 - MOUNTING INSTRUCTIONS - 



Note:

QTY.

 
MULTI-ADJUSTABLE VISORMULTI-ADJUSTABLE VISOR

15 min1 person

Innnteeermmmediate

DDDiffifificcuuullt

TYPE WINDSCREEN

TYPE WINDSCREEN

TYPE WINDSCREEN

If the visor is supplied along with the windscreen, the windscreen will come factory-drilled so no drilling is necessary.

A

B

C

Plastic thread fastener M6x12

Visor

Template

Multi-adjustable mechanism

Cap

8

1

1

2

4

5

1

2

3

4

Ref.: 6007

Ref.: 5852

Ref.: 5853

Nº 4 Ø7

ALLEN

DESCRIPTIONID.    PART

 Easy

Smoke

Clear



MULTI-ADJUSTABLE VISOR

2

4

6007
5852
5853

1

3

A  

Use Ø 7mm drill for plastic.

Use a wood block on the other side.

Chamfer the four holes on both sides.

Ø7

5

4

3

1

X

X

X

CONTACT SECTION WITH THE WINDSCREENX

    Tightening torque  for screws  nº  5  (1,3Nm).
  

TYPE 

 - MOUNTING INSTRUCTIONS -



MULTI-ADJUSTABLE VISOR

B  

2

4

6007
5852
5853

1

3

Use Ø 7mm drill for plastic.

Use a wood block on the other side.

Chamfer the four holes on both sides.

Ø7

5

4

3

1

X

X

CONTACT SECTION WITH THE WINDSCREENX

    Tightening torque  for screws  nº  5  (1,3Nm).
   

TYPE 

 - MOUNTING INSTRUCTIONS -



MULTI-ADJUSTABLE VISOR

C  

2

4

6007
5852
5853

1

3

Use Ø 7mm drill for plastic.

Use a wood block on the other side.

Chamfer the four holes on both sides.

Ø7

5

4

3

1

X

X

CONTACT SECTION WITH THE WINDSCREENX

    Tightening torque for screws nº5 (1,3Nm).

TYPE 

 - MOUNTING INSTRUCTIONS - 

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

